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P39 6 k=158.8 mm ¥=97.3 mm
P39 |8 -+ —158.8=380~446 mm + + —97.3=441~507 mm
P45 |1 $=2.285x10°< « - - $=2.229x10°< « - -
P45 | 10 $,=2634.1+889.24 « Lx = - - S, =2634.1+889.26 + Lx * -
P46 |6 P=3186kN P=3095kN
P46 | 10,11 —~OETR, L =BT,
e~(0.037+0.063)/2=0.05 &I 5. e~=—(0.037+0.063)/2=—0.05 &3
5.
P46 | 15,16,17 411 411
3186 x 1 X (6.5 X 3095 x G X (6.5 %
0461 +0.05 ZOngél) 0461—(—00@_k20ng§1)
0.411 0.411 0.411 0.411
=901.4kN -m = 875.6kN -m
Mp=—901.4kN + m Mp=—875.6kN * m
P47 | 1,23 PC HMERT S 7.1 A5 LV i 223 AR5 kv
M45=3186%0.013=41.4kN M,45=3095%0.013=40.2kN
Mp=41.4kN Mp=40.2kN
P47 | 56,7 M45=901.4—41.4=860kN * m M45=875.6—40.2=835kN * m
M3p4=901.4+41.4=942 8kN - m M3p4=875.6+40.2=916kN - m
Myp THESS 5 & 861/860=1.00 Myp THEST 5 & 861/835=1.03
P66 | [X2.5.5 2T THDEE 1,800 2,000
P78 |20 M = (3.95 _ 2368 x10% x 35 " = (3_95 N 2368 x 103 x 35
129 x 106 cr 129 x 106
Lo > L. )
P78 |21 =(3.95—0.64+2.92)x + + + =801 =(3.95+0.64+2.92)x + + + =966 kN -
kKN * m m
P97 | 14 B 0 DOFRIZEZE WD LA EE T B 0 ORIFR X D BLEDD,

. BB oD 2L EETH D
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P149 | 13 T,, =199 X 3 x 295 x 1.1/10% = | T,,, = 199 x 3 x 295/10° = 176
194kN(F=H7) KN(FEH7)
P149 | 14 Ty + Thyy _ Tyy + Tpasy
" 083 ‘B -Fc " 083 -B-Fc
(194 +3744) x 103 1 (176 +3744) x 10> _ ™
TT083x852x50 M 1T 7T083x852x50 ot
P149 | 19 =194x(0.83 — =176%(0.83 —
0.42x1.043x0.111)+3744%(0.48- 0.42x1.043x0.111)+3744x(0.48-
0.42x1.043x0.111) 0.42x1.043x0.111) =138+1615=1753
—152+1615=1767kN-m kN-m
P188 | 8 Qu + Qo Qu + Qo
B-j B-0.8D
3 3
= 37310 =0.690 N/mm? :ﬂ:OJIN/mm2
600 % 0.875 %1030 600 0.8x1100
PISS |9
_0690 _014<0.15 07 Go14<015
50
P188 | 11 3 3
M0 o Nmm? | = X0 o Nymm?
600 0.875x1030 600x0.8x1100
P188 | 12
_2172 _ho043<0.15 _222 _0044<015
50
P188 | 15 3 3
:ﬂzlﬁog}ymnﬁ :&zl.&N/mmz
500%0.875% 830 500 0.8x900
P188 | 16
_L608 _ 032<0.15 162 ho32<015
50 50
P188 | 18 3 3
=&:1.903N/mm2 :ﬂzl.%N/mmz
500 0.875% 830 500 0.8x900
P189 | 1
_1903 4 03s<0.15 192 b 03s<0.15
50 50
PI89 | 12 ~759x10° +(1100x 0.875x830) ~759x10° +(1100x0.8x900)
50 50
~=0.019<0.15 =0.019<0.15
P189 | 17

_1107x10” +(900x 0.875x1030)
50

=0.027<0.15

_ 1107x10° +(900x 0.8x1100)
50

=0.028<0.15
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PI89 | 24 _ 489x10° +(1100x0.875x830) _ 48910’ +(1100x0.8x900)
50 50

=0.012<0.15 =0.012<0.15

P190 | 5 _ 38110’ +(900x0.875x1030) _ 381x10 +(900x0.8x1100)
50 50

=0.009<0.15 =0.010<0.15

TVANVRAENT (WLR) Py | 7V A RV REAT (L) Py
P200 | 17 ILTRRERS. ILTRRE RS,

Fo = PPe - 088§2><1085
() n P52
= 295kN/m

P223 1 11 (1+a) (1+a)

Mg, = 3 Pf — P,y Mg, = 3 Pf—P-e,

1+ a) 1+ a)

Msgp = ——5—Pf = Fea Msp =——5—Pf —Peq
P238 | £ 4.3.2 OB BIF A G
P253 | 15 tbEE 2.5 AN IARFE i 24kN/m?
P253 | 16 thE 2.4 BN AR H & 24kN/m’
P255 | (L)W | (i)7 L ¥+ Ak PCH., (ii)PC B Rk

2N B RURMR X BE O RARD

P255 | 15 Yer = 126.0 mm Yer = 125.6 mm
P255 | 16 Ve2 = 254.0 mm Ve2 =254.4 mm
P255 | 20 S;=95131x10° mm? S;=9576x10° mm®
P257 | & 525 LA MV EBIE O BRI FoEL
P258 | £5.2.6 XA MV EBIEDOBTE HIFR L
P258 |8, 12 D10D13@400 ( A=990 mm?) DI0D13@100 ( As=990 mm?)
P259 |5 dy = (mm) ds =32 (mm)
P259 | 18 AW AW

T=.. =1, =117...0K T=.. =1, =099...0K
P260 |3 T =...=0.78<0.86 N/mm? T =...=0.78<0.99 N/mm?
P260 | 18 for a7 U — AW S a7 U — MEAWITRE

(=0.86 N/mm?) (=0.99 N/mm?)

P261 |5, 6, 7 | Ou=310x294.9x{ 1x(0.86+0)+ | Ou=310x294.9x{ 1x(0.99 +0)+

0.5%295%( 0.0036—0.002 ) } x10-3=
100.2 kN

0.5%295%( 0.0036—0.002 ) }x107 =
112.0 kN
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12G +...= 1042 kN
1.7(G+P)...=105.8 kN

1.2G + ... = 105.0 kN
1.7(G+P)...= 107.0 kN

P261 | 8 G: BEMEIZLDEANS G: EEMEBEIZLATAMA
(= O0p+ Or+ Or=25.36 kN) (= Op+ Or + Or = 26.08 kN)
P262 | 2 T_Q-s,. _Q-S; 4088 x10° x 9576 x 10°
b, T_b-lo_ 1750 x 243341 x 104
4088 x 10% X 9297 X 10° =
T 1750 x 23947 x 10*
P262 | 9 _Qu- S _uS
A =,
7854 x 10% X 9297 X 10° 017 |- 78.54 X 10° X 9576 X 10° _ 018
T 1750 x 23947 x 10*+ T 1750 x 243341 x 104
1 [ X7 38O 5 1A s 7
P287 | #6.2.6 3.800 2.800
P289 | 10 Ry Ronu
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P257 ()P RWri OREE (1)BBEDIS IS

) #525 a7V — NOREENEE 7 U — R 910
thiF = — 2 B W1 o (N/mm?2)
Wit HR 4K
THH v b (kN -
) (x10°mm?) LT B B PCH L#% | P CHF i
m
11510 1.18
PCHRHAE 13.60
-5281 -2.58
LiFtfl b a v 11510 1.36
15.65
7YV —FHE -5281 -2.96
11510 0.85
VEZETE 9.80
-5281 -1.86
19377 0.12
H EFfE 2.41 95131 0.03
-9565 -0.25
19377 1.14
FEE T 22.11 95131 0.23
-9565 -2.31
( 1E) #525 KEBBEDIGSIEE 1910
thif e — 2 B 1 o (N/mm?2)
Wit HR 4K
THH v b (kN -
) (x10°mm?) BT B B PCH L#% | P CHF i
m
11510 1.23
PC iR H & 14.2
-5281 -2.69
LiFtfl b a v 11510 1.36
15.65
7YV —FHE -5281 -2.96
11510 0.85
({2 9.80
-5281 -1.86
19377 0.09
ft R E 2.41 95131 0.03
-9565 -0.25
19377 0.86
FEE T 22.11 95131 0.23
-9565 -2.31




P258 (iii)= > ¥ U— MNEHFEDEET

(i) #526 @7V — ORI E 7 ) — 7 fRE 1910
- JEJ1 o (N/mm?)
BT H ik | PCH LR | PCIRT#&
OEHTL AP LR -0.92 10.33
@P CHHE 1.18 -2.58
LI bavy s ) —+HE 1.36 -2.96
OESEE 0.85 -1.86
G b 0.12 0.03 -0.25
(©fF A 1.41 0.23 -2.33
TR EET 2.47 2.93
D+@+3+®@ <17.6 >-1.66
RIRE &5t 1.26 1.88 2.21
O+@+3+B®+® <8.0 <16.6 >-1.66
(1) #526 a7V —MSHEOEF L0
- J&J1E o (N/mm?)
BT H ik | PCH LR | PCIRT#&
OEHTL AP LR -0.92 10.33
@P CHAE 1.18 -2.58
LI bav s ) —FHE 1.36 -2.96
@FF AT 0.85 -1.86
Gt b i 0.09 0.03 -0.25
(©FF U H 0.86 0.23 -2.31
TR EET 2.47 2.93
D+@+3+®@ <17.6 >-0.99
IR &Et 0.95 1.88 2.21
O+@+B3+B+® <8.0 <16.6 >-0.99






